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B. Com. (Hons.) 5th Semester w.e.f.
Academic Session 2016-17 and Current
Scheme Examination - May, 2023
FINANCIAL MANAGEMENT

™ Paper : BCHN-5.01

A l

Time : Three hours ] [ Maximum.Marks : 80

Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.
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Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.
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1. Give short notes : 2x8=16
Hitre fearr &
(a) Profit Maximization.
W AHTH

93537-6¢0-(P-7)(Q-9)(23) P.T.0.




W, BNl ;“ﬁ_;

 Cost of Equity.
@ @
(e) Net Operating Income Approach.

g IREEE S eI ?
(f) Aggressive approach to financing of
capital requirement.

(g) Inventory Management.

gl FEEE
(h) Determinants of Dividend Decision. 5
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- Explain the concept of over capitalization and under

capitalization. What are the causes of over and under
capitalization ? What is their effect on the operations of
a business ? 16

S GolHior MY 9 UoletoT & S # A B
ANFH AR FH BT & HIT F & ! A9 & G
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UNIT =i
TR — I
Calculate weighted average cost of capital from the
following information : 16
4
8% Debentures 6,00,000
9% Preference Share Capital 1,50,000
Equity share capital (50,000 shares) 5,00,000
Retained Earnings 7,50,000
20,00,000

The market value of equity share is ¥ 30 per share. The
company has declared a dividend of ¥ 3 per share.
Assume corporate tax rate at 35%.
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5. Distinguish between Operating Leverage and
Financial Leverage. How the two leverages can he

measured ? 16
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T 5- lee a crifical appraisal of the Modigliani and Mﬂle
| "-e- *appmach to the theory of capital structure.




7. From the following Projections of XYZ Ltd for the next 1

year. you are required to determine the working:

capital required by the company : 16
Annual Sales ¥ 14,40,000
Cost of production (including  depreciation of
< 1,20,000) ¥ 12,00,000
Raw material purchases ¥ 7,05,000
@ Monthly expenditure T 30,000

Estimated operating stock of raw materials % 1,40,000
Estimated closing stock of raw materials < 1,25,000
Inventory norms :

Raw materials, 2 months, Work in progress, 1/2
month, and Finished goods. 1 month.

The firm enjoys a credit of half a month on its
purchases and allows on month credit on its supplies.
On sales orders, the company receives an advance of
¥ 15,000. You may assume that production is carried
out evenly throughout the year and minimum cash

balance desire to be maintained is ¥ 35,000.

o af & fouw XYZ fafes & Frefofaa Seon @ s
AEEF & B FU G FAYEN B AEEHA e
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e T 14,40,000

93537- -(P-7)(Q-9)(23) (5) P.T.0O.
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IS @ (3 1,20,000 F foger @iew) T 12,00,000

Fedl HIE ¥ 7,05,000
e 230,000
Fed AW H FAIG SRET Wi ¥ 1,40,000
Fed A S FAT b % 1,25,000
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8. Explain the Walter's dividend model. Discuss its
assumptions and limitation. 16
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9. Bajaj Ltd is being offered two schemes of discount

offers. From the undermentioned data, find the EOQ
and cost associated with EOQ. Also find weather the
financial manager shall avail the discount offers

against the EOQ. If yes, then which of the offers
is more beneficial ?

16
Cost per unit 30
Annual requirement 20,000 units
Carrying cost 10% of the cost per unit
Ordering cost 48 per order
Discount

5% on an order of 5,000 to 9,999
6% on an order of 10,000 units
T Wi H & T F Repe o Re o ¢ ¥ 49
T T S §, EOQ o EOQ ¥ 9@ arm @ #ifer
& A 510 B B R wEes EOQ 3 few ge 3w

P H IJITCM TR &, G -9 oed ¥ St o
AYEES & 7

Discount

qf e A 30

CUEERCICER e | 20,000 3HEAT

qEq T i gfe @FE # 10%

R AT 48 T A

ge 5,000 ¥ 9,999 % SE | 5%
8T | 10,000 34l % ST W 6% i
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B. Com. (Hons.) 5th Semester w.e.f.
Academic Session 2016-17 and Current
Scheme Examination - May, 2023

INVESTMENT ANALYSIS
Paper : BCHN-5.02

Time : Three Hours ] [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they
have been supplied the correct and complete guestion paper. No
complaint in this regard, will be entertained after examination.

Yol & GUT @7 @ e qour 9% ghaRad #¢ & /5 ava g
gd el ge7-97 Far &1 ghar % IV 39 ge9 7 #F 4
Rrraa 7&l g4 s

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

question carry equal marks.
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1. Write a note on the following : 2x8=16

frferag ov feweft forfea -
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(a) Steps involved in identification of investment ’a
opportunities.
FRY 3 gl F geEH # e =1
(b) Difference between speculation and gambling.
e ST SoT $ dre Sfe
(c) Limitations of EMH.
EMH ! Hm |
(d) Define trends.
wafedl i afAia Hi ?
(e) Objectives of Fundamental Analysis.
Rifers fsamT $ IRl
(f) Michael Porter Model.
AIEH ge] sl
(g) Secondary Market.
fadigs SR
(h) Define an Option.
v faee H gieaia #l
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2. What is investment analysis ? Discuss the nature and
scope of investment analysis. 16

st Rsaror & @ ? PRI fseser @it vl SR #des 1
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"No need to bother about past prices as stock price
truly reflects all information." Comment. 16
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What is Technical Analysis ? Describe the technical
indicators used in technical analysis. 16

qEiel faseeer @1 § 7 ad Redeer § ugeh ade
Hhas # qU B
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What is difference between the technical and

fundamental analysis ? 16
T R e Rwawe ¥ F@ ofl 8 7
93538-  -(P-4)(Q-9)(23) (3) P.T.O.



7. '"Ratios are based on the past performance so they do
not have any use for investors." Comment. 16

“ogaa e e W emaa 8 ¥ guRi R @
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8. Differentiate between an option and future. What )
advantages accrue to an investor from an option

contract ? 16

AT SR G B 49 oW BN T S TEY A 0F
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9. What is the procedure followed at the stock exchange

for making purchases and sales ? 16
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B. Com. (Hons.) 5th Semester w.e.f.
Academic Session 2016-17 & Current
Scheme Examination — May, 2023

@ INCOME TAX
Paper : BCHN-5.05
Time : Three hours ] [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.
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‘Vﬂte : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.
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1. (a) Define Previous Year. 2x8=116

T gy B g S
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G ‘-'Lf._ (B) Cook salary pmd by employer
(9 He claims following deductions :

f i B purchase of books
.?? o (b) He paid Rs. 600 as tax on '_ ‘
&i"' emPlOPnlent %
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UNIT - IV

g - IV

8. What do you mean by clubbing of income ? Explain
the circumstances under which income of other

persons are included in the income of assessee during
the previous year. 16

¥ % A9 | U T wE § 7 o9 yRRaRE @ aren(
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From the following receipts and payments of Mr.

Dinesh, compute his taxable income under the head

income from other source : 16
Fifefad aifedl o gram & Mo RAw & 3¢ 4y o
% T g A & o B $ aed FIT
(1) Received from M. P. State lottery (Net) 24,500
7 g3 U el & od (gs) (‘
(2) Winning from horse race 1,000
gede A o
(3) Winning from Rajasthan State lottery 3,000
TSR oY oifed | i
(4) Winning from horse race (Net) 49,000

gee 9 (g)

93541-  -(P-7)(Q-9)(23) (6)
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